t,had d mtbar{t}[ 1/ GeVZ]

pT

1/od’c/ d

Ratio to ATLAS

-
<
N

[EEN
o
&

|
o
o

1077

[EEY

0.5

13000 GeV pp

tt

T | L L | T T 1T T 1T T 1T | T T 1T T 1T T 1T | 9

c

— top — 9

- p (ATLAS semileptonic ttbar) =

N 1=

— m ATLAS _ 2

[ —a— Pythia 8.308 default BL

—a— Pythia 8.308 default-noFsr 52!

— —— Pythia 8.308 default-noRap — ;

— 1%

B —.2

B —H

= —z

— =

o™

B s

B —0

™

- —

=

X

= =8

— i N

— )

= mp=

- — ©

Q

B — w0

o

o

— —] ©

—, T NI R R T N RPN NN S TP SR N = =

: | T T T T | T T T T | T T T T |:

= 32

——— \ﬁ; 1
B —0.5

R I T T S T E TR T TR SR T T T S l
500 1000 2000

pthad [Gev], m

1500
"2 in [490,1160] [GeV]



	Contents
	Page 1


